2002-2004
LCA
H15
H15
LCA
H14 LCA
H15

E-LCA

H14

LCA

LCA

LCA

LCA

LCA



@l 15 3H20 -> 1.5H2 + AI(OH)3 +
AI203 + 3H20 -> 2AI(OH)3

(Al 15 ) NaOH+3H20->1.5H2+NaAl (OH)4+
AI203 + 2NaOH + 3H20 -> 2NaAl (OH)4

co
CH4 + 2H20 -> CO2 + 4H2
1
LCA
€02
€02
/ / /
LCA
LCA
PH
PH
13

k.=k,exp(70500/RT)



NaOH Ca OH , AL(OH),

AL+3H,0 — AI(OH);+1.5H,

NaOH  Ca(OH), NaOH

ke = koexp(35024/RT)  for Ca(OH),

NaOH 1MPa
300ml 40MPa 300
30MP
LCA
LCA
co2
16.5kg 0.7kg 4.2% 420MJ
8 1.9%
co2 25.3kg

15.4kg  60.9% 430MJ

260MJ(60.5% )
ELCA
AL(OH),
EXL  150.3MJ 44.4
96.8MJ 11.7%
60.2MJ
NaAl (OH),
EXL  558.4MJ 28.2
96.8MJ 3.2%
A B
NaOH
A

®) E-LCA LCA

E-LCA



30MPa

LCA
2-4%

LCA
LCA



